1.

H7]

® 606

ORONE)

® 9.6,

@ ©,6




&3}

[e]

f=

sfef o

S

A, B, Col

3|
=1

H7]

T3 ol A4 ol e Al
=& HI]o|A B Zotat,

[e)

=)
o

1

T

o

€

2.

NI
=
i
my
4
T
B
|
my
o
ﬂo
mo
)
B
I
H o
o) T et
5 Sk
5 —  H
O aa] < <t ~
m
= W © _% 7 18
= 8 o = = -
e z M IS
. > > . o L " . ~ -
g1 Ul WD ¥l Wl Ul ul oo Xor 10 10 1< |<
21218 PR ko = 5 EEIEE
S as A A AAALNALNALDN e = 8 ad

—_ =




7A
~
=
oju
o3
B @

£ Al 7ol o]
#40] u]2 Lpehy

5

Bl 9o A2 th
A4, A8 A4S g

23} ol

3. o
]{]l.

<o

(@)

® 2:1:1

@ 1:2:2

@1:2:1

D 1:1:2

@ 1:2:3

aa)]

T
K




C

tofzt.
Ae

°

127}

.I

el g 7

O
A

O

A

)
/M

O

O
M
<
A

<

<7
O

<

<t
M

<t




5.

Yl A A, B, C, D7} ohe 8} o] 9le m), o] AR
A2 o2 Ao Mg= 2 7RQ1A] oot

D
[ ]
A B C
Ct 7H




6. o2 I"HoA x o gF2? 31;%0;/

D 10° @ 20° ® 30° =30

@ 40° @50°

(3x+10°) + (x—30°) = 180° 9|22 x = 50° °]t}.




oS 2elA /x0T Fotolat,

(1) (2)

S/x/
i3 3z

—
W
=

3
2$x4$

i

it

(1)30°

0x
m

(2)30°

vV VvV VvV v v V¥
0
L

0x
1L

(3)20°

B

(1) 5zx + £x = 180°
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/x = 180° — 120° = 60°
o Lx = 60°

Zy = 180° — 50° = 130°
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